Name Date

UNDERSTANDING MULTIPLICATION

AS REPEATED ADDITION 3A

Shade the correct number of boxes that need to be added together.
Next write out the repeated addition. The first one is done for you.

1) 5x2= 5|/ 5 5|5|5]5|=5+5=10

2) 10x2= 10 | 10 | 10 | 10 | 10 | 10 | =

3) 1x4-= 111111 1]=
4) 3x3= 3133 /3|3]3]-=
5) 6x2-= 6 | 6|6 | 6|6 |6|=
6) 3x5-= 3 13[(3/3|3]3]|-=

7) 10x4-= 10 |10 | 10 |10 | 10 | 10 | =

8) 5x5= 5| 5]5]5 |5 |5 ]|=
9) 8x2= 8| 8|88 |]8]|8]-=
10) 4x4= | 4 | 4| 4|4 4] a]-=
11) 9x1= 9199999 =
12) 2x6= 2 222 ]2]2]-=
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Name Date

UNDERSTANDING MULTIPLICATION
AS REPEATED ADDITION 3A ANSWERS

1) 5x2= | 5 | 5| 5| 5| 5|5 |=5+5=10

2) 10x2= |10 | 10 | 10 |10 |10 | 10 | =10+10=20

3) 1x4= |1 [ 11| 1| 1|1 ]|=1+1+1+1=4

4) 3x3= 3 3 3 3 3 3 | =3+3+3=9

5) 6x2= 6 6 6 6 6 6 | =6+6=12

6) 3x5= 3 3 3 3 3 3 | =3+3+3+3+3=15

7) 10x4= |10 | 10 | 10 | 10 | 10 | 10 | =10+10+10+10=40

8 5x5= 5 5 5 5 5 5 | =5+5+5+5+5=25
9) 8x2= 8 | 8 | 8 8| 8| 8 |=8+8=16

10) 4x4-= 4 | 4 | 4 | 4 | 4 | 4 | =4+4+4+4=16
11) 9x1= 9 (919 99| 9]|-=9

12) 2x6= 2 2 2 2 2 2 | =2+242+242+2 =12
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